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14 

Question Answer Marks 
AOs Guidance 

15   substitution of y = 1 

4 3 0 or 4 3x x x x       

x = 1 or 9 
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substitution of y = 1 and their x = 1 or their x = 9 

m =  [at (1, 1)]  

m = [at (1, 9)]   
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allow one sign error 

 

 

 

dependent on at least two terms 

correct on LHS following 

differentiation 

 

allow ‒ 0.05555…to 2 sf or better 

 

 

 

 

 

 

 

 

 

 

 

 

 

allow following wrong 

rearrangement after 

differentiating 

16 (i)  C = 2  

A = 62  

B = 10  
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since max when t = 2 

since max when (t ‒ 2)
2
 = 0 

from substitution of 22, 62 and 2 

 

16 (ii)  substitution of 0.75 in p = 62 ‒ 10( t ‒ 2)
2
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FT their 2, 62, 10 

 

allow 46.375 rounded to 2 or more sf 

 


